42 1)

2x,—1  2x, —1rood
sx, 14 e (CaT D)= (@6 E )=

= 10%X, +8X, —5X, A4 = 10%:%; +8X, —5%, A4 =13x, =13X, =[x, =X,

Apan feivor 1-1

Av(f(x)=f(x,)|=

42 2

3, —1  3x, —1 e
2,5 2,95 D@ 8= (30 )2 +8)=

Av|f(x)=f(x,)|=

= 6XX, +15X, — 2X, A5 = 6XsX, +15X, —2X, 5 =17x, =17X, =[x, = X,

Apan feivor 1-1
42  3)

X, —3  X,—3 nwr

= X, — 26K, — B +6X, =X, — 2gK; — B +6x, = —5x, =—5X, =[x, =X,

Apan feivor 1-1

Av|f(x,)=f(x,)|=

42  4)

2X, —1  2x, —1 reot
3x11+2 B 3x22+2 = (24, -1)(3 +2) = (2%, -1)(3x, +2) =

Av(f(x)=f(x,)|=

= XX, +4X, —3X, A2 = 6XsK, +4X, —3X A2 = X, =X, =|X, =X,

Apan feivor 1-1
42 5)

4X,+2 4X,+ 2 rer
7x11—1 = 7x22 = (4%, +2)(7x, 1) =(7x, —1)(4x, +2) =

= 28%X, — 4%, +14x, 7 = 28%;%, +14x, —4x, 2 = -18%, =-18X, =[x, =X,

Av|f(x)=f(x,)|=

Apan feivor 1-1
42  6)

Av[f(x,)=F (x,)|=32x, -5 +7 =32x,-5+7 = B J2x, -5 = F[2x, -5 =
:>\,/2x1—52 =J2x2—52:2x1—5=2x2—/5/:>2x1=2x2:>

Apan feivor 1-1

42 7)
AVIF(x)=F(x,)| =L -2x, +3=1-2x, +3= 2 X +3= 2 [x, +3=

:>\/x1+3:\/xz+3:>xl+/g=xz+33 X; =%,

Apan feivor 1-1
42 8



+2:

= P, + 2%, 2% A = ek 1 2%, — 23 A = A X = A, =
:>\/X_1=\/ZD X, =X,

Apan feivor 1-1

Avf(xl):uxz):g—z %3"‘2{(@_2)(@+2)=(@_2)(¢z+2):

4.2 9
AVIF(x,) =T (X,)|= a0+ F =4+ B = A = A =X} =X :>

Apan feivor 1-1

42  10)

3 3 {
X X yooti
L :>xf(x§+1):x§(xf+1):>

Av f(xl):f(xz) =

3,1 o3
X;+1 x;+1

3 3 U3 3 3_u3 _
:}(Xf+xl_%+x2:>xl_x2:>

Apan feivor 1-1
42 11)

AV[f(x)=F(x,)|= 43+ 7 =43+ 7 = A .31 = 4.3 =34 =3¢ :»

Apan feivor 1-1

42 12)

Av f(Xl) —f (Xz) — 2e2x1+1 +g _ 2e2x2+1 + g — Z82x1+1 _ /Ze2><2+1 — e2><l+l _ e2x2+l —

= 2%, + L =2%, + L = Zx, = Zx, =[x, =X,

Apan feivor 1-1
42 13)
AV[f (x,) = (x,)] = 8" ° - g =3 g Fet = FetV o
EINPENTEE xz—5:>4\jZ—5=4\/Z—5:>,4/\jZ:/(\/Z:>
2 2
= = = e

42 14)
AV () =T ()| = 3@5 e 3@5 A= z@s _ g(ljsxrl N

2

1 5%,-1 1 5%,-1
:(_j =(§j :>5X1_125X2_i:>5x1=5x2:>X1:X2

2
Apan feivor 1-1

4.2  15)
exl exz x0T %y [, o (ax,
Avf(xl):f(xz):>exl+3:exz+3:>e (e +3)=e*(e”+3)=




X X X X
= Be" = Fe et =g =X, =X,

Apan feivor 1-1
42 16)

42 17)

Apan feivor 1-1
42 18)
AV|f(x,)=F (x,)|=2In (x,~9)+6 =2In(x,-9)+§ =

= ZIn(x,-9)=2ZIn(x,-9)=In(x,-9) =In(x, -9) =

=X -F=x-F =[x =x,

Apan feivor 1-1
42 19)

Av|f(x,)=F(x,)|=In(e* +5)=In(e? +5) =™ + B =e’™* + § =

= e =¥ = Ix, = Zx, =[x, =X,

Apan feivor 1-1
42 20)

X, +1 X,+1 X +1 X, 41w
=In = = =
X, —2 X, =2 X, —2 X,-2

Av|f(x)=f(x,)[=1n

Av[f(x,) =F (x,)|=3Inx, 57 =3Inx, 7 = ZlInx, = ZInx, = Inx, =Inx, =[x, =X,

Av[f(x,)=f(x,)|= In);l(+5: Inx/2+5:>Inx1+5=lnx2+5:>Inxl=lnxl:>

= (X, +1) (X, —2) = (X, = 2) (X, +1) = XX, = 2%, +X, = Z = XX, +%,—2X, - Z =

= —3X, =-3X, = |X; =X,

Apan feivor 1-1
42 21)

2Inx,+5 2Inx, +5>ﬂ§'
3Inx, -2 3Inx,-2

Av|f(x)=f(x,)|=

= (2Inx, +5)(3Inx, —2)=(3Inx, —2)(2Inx, +5) =
=(2Inx,+5)(3Inx, —2) =(3Inx, —2)(2Inx, +5) =
= 6InxHTX, —4Inx, +15Inx, — W = 6InxHTX, +15Inx, —4Inx, — 1 =

= A9 Inx, = 49 Inx, = Inx, =Inx, =[x, =X,

Apan feivor 1-1



